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English Languag® fr=f a1
91. In the following queations, you are reql.li:':f(: 96. U % 3 1 5 IS ¥y 5
1o give the names of the places where LA gy e §
noun subject is kept, grown or made ans?war i I
the following with the help of the alternatives (A) OV
given below them : o 9
Provisions are kept in the ®) afga [%
(A) Awviary (B) Zoo (C) FA
Ki (D) Pantry .
MCr Kiln . ’mr";qﬂﬂ i
92, The following sentence contains grammatica ) . .
error or idiomatic errar in it. You have to 97. 1erdl = Al ¥ |HEi| w1 fera €1 fafa
find out that part of the sentence and choose FEAH 2 |
the alphabet of that part as your answer. (A) 91 g
1 don't know whethor Karthik is \ (I Tafa
equally good as Sanjay.
(A) is equally good (C) =2
(B) [ don't know (D) wd 8 1 2
(C) as Sanjay
\\_l_u.}"whmhvr Karthik B8, 9T W AT JE il 7 30
93. Fill in the blank with sppropriate form of (A) Fg=fa g
the verb from the alternatives given below (B) ¥EA fua
i (C) st @r
By next July, we o -
&  living here for two years. "‘D’ﬁ & i 7l
(A) will be g9, @1 Ewm aull & A @ B3 e ufada
(B) shall have been FEA D |
\(C¥shall be .
(D) will Qo)
94. Give one word substitutes for the following (B) 5,[5'”
from the alternatives given below them. Yey wfia
Not large enough in amount or size, meagre = -
(A) Slander (D) ¥4 § F1% T
(B) Sovereign 100. G fmEdAumsn R e
(C) Skimpy ;
(D) Solemn R, 3 wed B
95. Add suitable question tag to the following (A) ar=d
from the alternatives given below them. Lliﬂ;ﬁg: (B) FTE
He isn't a strong man, 9 IO ¢y 3
(A) wasn't he (B) does he ;
i @ w
\(()A4s he (D) doesn't he D) ¥

X2
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Faerea e o fFm am i R 7

(A) I EEH

(1) THA

C) TEH
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fra sfamE faend &1 gvdl & foy o
qEET 2020 fien 7

(A) wasi fae afiem

(B W wEm Ffem
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et waneen wrd ara & ant § Feffe s
ot faam i | .
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20 fazaii # firem 8 73 aTe W i 6
e, 90 & 4 #) Srga A v i
1 oz @) ofedi e 1 7 3

(A) 197 (B) 183

(C) 185 (D) 186

el s wede &1 vamfiE e b

(A) CuSO,.4H,0 (B) CuSO,.5H,0
(C) CuS0,.8H,0 (D) CuSO,_6H,0
RELEE T S0 P 'y B

(A) ®) W EE
(€Y HeTas (D) vsitee K@
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31 R

(A) T s 2o vramee
\UB) iz wh witda

(C) T wit efew wan

(1) 32 it v grad sy

ﬁmﬁriwua-zo};#t%ﬂnimﬁq&qm‘ﬂ:ﬂ%
féw o wvst & 3w A

3113 frendi

A.B.C.D,E F,GsmHEn Az w sFz A

6 drorn @ 8 § | Fae A w3t Rfrfeg i 8 |
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et 9 ¥4 fadi -2 8 7
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I 43 HTEY] F Gy § Reifafs § 4 979
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frfeifiaa # 4 fam oo 1 emiss S e a7
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67.
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(C) B.5 (D) 7.0

68, ¥® S s R (TerEon) & R & for i
et 4 SO 1A @ | 9H HUEEE O F AER

WA T (B) uzed
(C) fafidd () FHA
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(A) 26 (B) 28
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(A) SR (B) wH
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et s &1 AT | e 3 Rl e 2
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